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B — AR 1) 2 DN AR R G B 56— R Ze A% FTid 28 — B A4 R T 1) %> G oK R Aeox
I R) B R A4 DL K Pl il S5 — ) 3 T PR 8 S AR R 20 B IR 2 — R it e Je » IR
P PTIR S — R EAT IR 5 — P T AL AR TR 28 — R &P A% ik B —~F R AR T ad 255
REAR UL R TR B =S T AR, W v BTl A 7 1) AR AT R A R o i T AR B S it

TERZE EER A, W T BUE LA B RME B RN R T

[0046]  Zx LRIl , A B FR AL 1 — T4 7 i) £ s ] A E 4 S L BT O vk AT L B —
AL T < 2 A R LA B 26 — A R TH, PITk B — A SR TR P 3k 55— R i DA K i
RS =R A R Y 3R R A T TR 3R 2 BRI T KR 2R R, ik B8 — il i R
THT 100 8% SRR R et 7 R S AR B A A 2P = ((x +d) *y D) TR 58 BRI 2 THT 1)
BAGARR LN R B ARG 2 AR P,=a () Hy,) (a (x,4y,D) & |, BTk =
A 2R THT ) 25 A G2 R et L) HH S AR B /2 A 3Py = - (2 (x,*4y,)) &, Hor,afild Ay
R x Ry R ES BRI 1 5 A YK R 20 L[ 58— P T AL b, x, Ry, N 55 B A R T
R 3% K R G0 L) 5 -~ T A B, x Ay, D9 35 = A R T ) 8N AN K R B R 26 =
PHEALKR, & 1 & NFEARER R NS, & =tan ' (v,/x,) » b, =tan ' (v,/x,) A KWK
TR D375 A T S 4 ) B R e AT R A R ) P T AL A A T G 1 BRZE L E ER AE Y
m 7 BAE AL, ERE AN, T EE .

[0047] 87 24 B AR FR) 2 , AR R W I I PN BIR B (1 28 451, of AR S Sl B R N Dokt , vT
AR b3 6 B 0 A SOt B A H5t , T A 3K 126 S A $50 8 7 Ja8 T A B T B SR 282 5K 11
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